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/DCB : /DAB : /EAB : /BCF = 2 :3 :4:99oH&
(DCB =2k, /DAB = 3k, .EAB = 8k, /BCF = 12k 2t1l 5}A}.
B9 slzto] o] oA tho] -t
ta= (ABG + £/GBC

= /EAB + /BCF

= 8k + 12k = 20k

/b= /ADH + /HDC
= /EAD + /DCF
= (tEAB + /BAD) + («DCB + /BCF)
= 8k + 3k + 2k + 12k
= 25k
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i 4




o2 I-ONA zx + 2y — 22 O] F2?
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17 = 30° 4 34° = 64°
Ly = 25° + 54° = 79°

£x = 180° — (64° + 79°) = 37°

L Lx+ Ly— z=37°+79°—64° = 52°
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AF9] 3 o o, 2,MEC ¢] 37]=2

@® 30° @ 60° ® 90° @120° ® 150°

3.9] Aol F47He] 7)) HulAFER T AC ° 47}
/AOC = % X 360° = 120°

AO =CO (FtA8) 0|22 AA0C & o] 54zt o|r}.
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5 (180 —120) = 30° it

2 x = 180° — (90° 4 30°) = 60°

o 2x = 120°
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AA 9] E9] &0]& 1200 =+ 12 + 10 = 10cm
600cm?® 1 EAIE 92§ 9] &olE F5HH (1200 + 600) +
12 + 10 = 15(cm)
~ o Z9] #0l+= 15 - 10 = 5(cm)




